Economics EOCT Review
EOCT:

The EOCT is broken into five (5) domains covering certain content. Below you will find each domain and the key content each covers:
I. Fundamental Economic Concepts

a. Scarcity and Opportunity cost 
b. Supply and demand as it relates to scarcity 
c. Factors of production (resources) 
d. Allocation of resources (3 questions always asked) 
e. Characteristics of the U.S. economic system 
f. Elements of microeconomics: Consumers, households and businesses 
g. Circular Flow of goods and resources 

II. Producers and Consumers

a. Specialization and resource efficiency 
b. Savings, investment and capital 
c. Factors of production (4 types of resources, allocation, specialization) 
d. Career opportunities 
e. Issues facing consumers 
f. Minority issues – what issues do most minorities face? Poverty? Unequal distribution of income? Lack of education opportunities leading to lower standard of living?
III. Microeconomics: Elements in the Marketplace

a. Price determination 
i. Demand & Supply, curves, equilibrium (market clearing prices)

b. Economic exchange

c. Types of business 
i. Sole Proprietorship, Partnership, Corporation

d. External economic factors 
e. Market structures 
f. Organized labor 
g. Labor issues 
h. Regulatory agencies 
IV. Macroeconomics: The National Economy

a. Banking functions 
b. Macroeconomics key indicators

i. GDP, CPI, Inflation

c. Aggregate supply and demand (curves, what happens to supply curve over time) 
d. Unemployment 
e. Business economic cycle 
f. Federal Reserve and monetary policy 
i. Interest Rates, Open Market Operations, Discount rate, Reserve Requirement

g. Fiscal policy

i. Taxation, Government spending, automatic stabilizers & discretionary policy

V. The International Economy

a. Economic system types 
i. Command v. Market systems

b. International trade 
i. Exchange Rates

ii. Comparative and Absolute Advantage, Specialization

c. International trade issues 
i. Free Trade, NAFTA

CONTENT DOMAIN I
· Scarcity and opportunity cost

Resources: resources are the inputs—such as labor, capital, entrepreneurship, and land—used by a society to produce outputs. These outputs—which are often finished products like hamburgers and cars—are called goods. Scarce: short in supply. Scarcity is the noun form of the adjective scarce. Allocate: to distribute according to some plan or system. The opportunity cost is the value of the best alternative that could have been chosen but was not.

· Supply and demand as it relates to scarcity

-Supply, the quantity of goods or services that someone is able and willing to supply at different prices. The supply curve is upward sloping. This shows that as price goes up (the vertical axis) a firm is willing to make more goods in order to make a larger profit. Of course, they need to find people willing to buy their goods. This information can be called the demand curve for their goods. The demand curve shows the amount of goods or services that buyers are able and willing to purchase at different prices.

-Unlike the supply curve, the demand curve slopes downward. This shows the common case of how the amount of a good that people demand declines when the price of a good increases.

-While the theory of demand may not be easy to understand, creating an actual demand schedule can be even trickier. It depends on the tastes and preferences of all the buyers in a society. This desire to purchase one kind of good over another is often called the basic wants and needs of a person.

· Factors of production

Resources that are used to produce or sell goods are commonly referred to as the factors of production. The four basic factors are: land, labor, capital, and entrepreneurship. The resources used by almost every business can be placed into one of these four categories, which is why learning them is useful when discussing the economics of a business.

The Four Factors of Production

1. Land. Land is just what it seems to be, but it also includes any natural resources and man-made improvements that might be found on the piece of ground in question. Oil in the ground or gold in a creek bed are two things that would be included as part of the land, since they occurred there naturally. Buildings, fences, and roads are also considered part of the land since in most cases these improvements are bought and sold with the property.

2. Labor. Labor covers the mental and physical effort of human beings. Moving heavy boxes is an example of physical labor, while writing a mystery novel is an example of mental labor.

3. Capital. Capital resources are man-made creations (other than permanent improvements to the land) that are used to make goods or services. Capital is often divided into two categories: physical and human. Physical capital includes everything from the huge blast furnaces of a steel factory to the display shelves of a clothing store. These two man-made creations are used to produce a good (steel) or provide a service (apparel display). Human capital covers the skills and knowledge within a person’s head. 

4. Entrepreneurship. The final resource is the hardest to define. Entrepreneurship roughly translates to “good business sense.” It covers many areas, like the ability to: 1) come up with new products that people will want 2) organize and run a new business successfully 3) manage employees effectively Some people are simply better at business than others are. These people have the ability to take an idea and introduce it to the public. 
· Allocation of resources

Every economic system must answer three basic questions. How these questions are answered helps determine the kind of society that is created. These three questions are: 1.What will be produced? Every nation produces a unique set of goods and services. Changing what a nation produces changes a nation itself. 2. How will it be produced? “Private companies” or “The government” are two answers to this question. In the United States, private companies produce the majority of goods and services. In some socialist countries, or countries ruled by a dictator, the government produces the majority of goods and services. In these countries, the majority of the population works for the government. 3. For whom will it be produced? In other words, who is going to use the products produced by a society? By applying these three questions to different countries, you can gain insight about these societies.
· Characteristics of the U.S. economic system

-The biggest point to remember is that the United States has a capitalist economy. A capitalist society has private firms that produce and distribute most of the goods and services in the society. Money earned by firms and people in this society is reinvested into different markets.

-There are those who believe the unequal distribution of wealth is wrong or immoral. Many of these critics prefer the idea of a socialist society, where the government plays the largest role in distributing goods and services within a society. Theoretically, the government’s leading role insures an equal distribution of wealth, although this has not always been the case historically. 

-In a capitalist society, the government plays a limited role. It may have an agency to regulate the safety of a product (such as a new prescription drug), but that agency has no direct role in pricing, supply, or distribution. The government also has laws to insure that all citizens have a fair chance at employment regardless of race, creed, religion, or sex.

-While the United States government seeks to insure equal opportunities for everyone, a capitalist society does not seek an equal distribution of wealth. It is almost inevitable that a capitalist society will generate some people with more wealth than others.
· Elements of microeconomics: Consumers, households, and businesses

Microeconomics can be described as the study of people and businesses within a single market. This small focus—only one particular market—is one way microeconomics (literally “small economics”) is different from macroeconomics (“large economics”).

Every individual market has certain similarities. Consider the market for plastic furniture.

There are consumers, people who buy and use plastic furniture, and there are firms or businesses that make plastic furniture. How the demand of these consumers and the supply abilities of these businesses interact can often be shown using Price/Quantity graphs. These graphs show how changes in supply affect both consumers and businesses, and vice versa.

Since some goods are purchased for a family or collection of people, the term household is often used. Households purchase goods for use by anyone living in the group.

· Circular flow of goods and resources

Study the circular flow diagram below well, and be sure you understand each aspect of it. The diagram provides a simple and easy way to show how households and businesses interact, as well as how the product market and resource market are connected.
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Content Domain II: Producers and Consumers
· Specialization and resource efficiency

When you work at a job you are, in effect, a producer. It doesn’t matter if you are working for someone else; if you are making a good or providing a service, you can be considered a producer. When you purchase a good or service, on the other hand, you are a consumer of that good or service. Specialization allows people to concentrate on a single activity or area of expertise. For an entire society, specialization helps boost overall productivity and leads to an efficient use of resources.

· Savings, investment, and capital

Savings are monetary deposits secured for a later, undetermined use. Money in savings might eventually be spent on groceries, a vacation, or some other form of consumption. An investment is the redirecting of resources from being used today with the expectation of some future return or benefit.

When producers are given additional money, the factors of production come into play. The amount of land is often fixed, and entrepreneurship is hard to purchase, so the question of where the additional money should be spent often boils down to, “Should the money be used for labor or capital?”

In general, U.S. producers often choose to invest in capital, especially new technologies that can boost production levels. This gives U.S. businesses the ability to compete against foreign businesses that can hire workers at a fraction of the minimum wage in the United States. Even though these firms have low labor costs, U.S. firms can often maintain an advantage in production by using the best technology and heavy capital investment.

What consumers do with additional earnings often boils down to a choice between savings and investment. Producers with additional earnings usually face a choice of spending for more labor or more capital.
· Factors of production (see Domain I)
· Career opportunities

At some point in your life, you will probably find yourself looking for a job. Finding the right job is a complicated process, filled with questions like:

1) What would you like to do for a living?

2) Will you get paid enough to justify the job?

3) Will anyone actually hire you?

Wage, which is the income earned by an individual for work done. In general, the two factors that can boost the wages of a particular job are demand for that service and the training requirements needed for the job. High

demand raises wages because it allows the limited supply of labor in that area to ask for more money and get it. Additional training (educational or job specific) also raises wages because there is an opportunity cost associated with this unpaid training, and this opportunity cost must be offset with a higher wage. Otherwise, no one will undertake the job.

· Issues facing consumers

A huge number of families in the United States have some form of debt. There are some advantages and disadvantages to getting into debt. On the plus side, obtaining money quickly might allow you to buy something—like a house—immediately, rather than waiting twenty years until you have enough money to purchase it outright. On the downside, all debts have some form of interest payment to them, so getting into debt means that you eventually pay more for something by getting a loan than if you could have purchased it with your own money.

Types of Financial Loans and Associated Terms

1. Home loan. Since the cost of a house is often quite high, many people receive a loan called a mortgage to pay for a house. Mortgages are loans that are usually paid out over a considerable length of time, such as ten, fifteen, or thirty years. Mortgages can be fixed or variable. With a fixed mortgage the interest rate is set at the time of the loan and does not change. The fixed rate allows households to know how much payments will be for the life of the loan. If the loan is at a variable rate, fluctuations in the interest rate might cause financial turmoil for the household as payments may go up significantly as the market changes. 

2. Consumer loan. Sometimes people just need a little extra money. The money might be used to buy a new car, for some type of home repair, or just to throw a really, really great birthday party. Consumer loans are not as large as most home loans, and they often have an interest rate that is a little higher than a home loan. Also, the duration of most of these loans is relatively short, averaging around 1-5 years in length.

3. Credit card loan. Credit cards allow people to purchase goods and services easily. When traveling, you can carry these strips of plastic instead of a great deal of currency that could be stolen. Although credit cards are convenient, consumers pay for this convenience with high interest rates. Interest rates around 18% are not uncommon, and the rates are variable, so consumers often find themselves holding a large amount of high-interest credit card debt if they are not careful with their spending habits. Interest on a credit card typically accrues on a monthly basis.

4. Finance companies. Banks are not the only institutions dealing in loans. Some finance companies buy and sell loans, while others offer specialized loans directly to consumers.

5. Interest rates. The interest rate is the percentage amount of payment by borrowers to the lender. An annual interest rate of 5% on a $100 loan would translate to an interest payment of $5 each year, since 5% = 0.05 5%($100) = (0.05)(100) = $5 After one year, the person would now owe $105. With a simple interest rate, the interest is determined annually with the original loan amount. In the second year, the interest would again be $5, so a person would owe $105 + $5 = $110 after the second year. With a compound interest rate, future interest is determined with the existing amount owed. In the second year of a compound debt, the interest would be 5% (105) = (0.05)(105) = $5.25 
$105 + $5.25 = $110.25 so the compound interest rate is greater than the simple interest rate. The current difference is only a quarter ($110 versus $110.25), but compound interest can build up a lot over a period of time.

· Minority issues

In the past sixty years, the available labor pool in the United States has changed dramatically. The initial cause of this change was World War II. With vast numbers of white males, who had held most manufacturing jobs, entering the armed services, factories and other businesses faced a shortage of labor at a time when demand for war related items was peaking. Minority males and women of all ethnic groups provided the answer, entering the work force in greater numbers in the 1940s. After World War II, many women did not want to go back to their traditional roles as housewives.

A similar change took place in the 1960s, when the Civil Rights movement in America reached a turning point. Slavery had been abolished for some time, but segregation, Jim Crow laws, and other racially motivated policies kept African Americans and other minorities at the margins of U.S. society. The Civil Rights movement helped end segregation and other racial policies, pushing the United States closer to a more equal, color-blind society. The result was that increasing numbers of African Americans entered colleges and took opportunities to obtain jobs in higher paying occupations.

Questions in this standard will focus on the changes brought about by the entrance of women and minorities into the work force. The changes are too numerous to list here, but in general, the following points can be made:

1) The available labor pool was greatly expanded.

2) The entrance into the work force gave women and minorities more influence in America’s political and social arenas.

3) As consumers with income, women and minorities now influence economic production decisions.

4) Women and minorities have made great gains, but absolute equality has not yet been reached.

Content Domain III: Microeconomics: Elements in the Marketplace
· Price determination

Factors Affecting Price Determination

1. Cost of inputs. The earlier discussion focused on the market for plastic furniture. In order to make plastic furniture you need raw plastic to mold into the proper shape. Plastic, then, is called an “input,” an ingredient in this particular production process. Raw materials, however, are not the only input. Labor and equipment are also considered inputs because, just like plastic, they are used to produce plastic furniture. If the price of an input rises, it will be more costly to make plastic furniture. The higher price of inputs will be reflected in an increase in the price of plastic furniture.

This increase in input prices would cause the supply curve to shift to the left. This, in turn, would cause the price of plastic furniture to rise.

2. Changes in technology. Advances in technology often make it cheaper or easier to produce a good or service. This is similar to 1. in that these technological advancements reduce the cost of using inputs, causing a shift in the supply curve to the right.

3. Changes in prices of other goods. Suppose the Plastic Furniture Company can switch its manufacturing process and make plastic flamingoes as well as plastic furniture. If demand for plastic flamingoes increases sharply, Second Time Sofa might want to shift their production process and make more plastic flamingoes (a hot selling item) and fewer plastic sofas. The higher price of another good (plastic flamingoes) would lead to a decrease in the supply of another good (plastic sofas).

4. Substitute goods. A substitute good is just what its name suggests: it is a good that satisfies most of the same needs as the original good. In our example, wooden furniture would be a substitute for plastic furniture. If plastic furniture becomes very expensive, many people might decide to buy the relatively cheaper substitute good (wooden furniture) instead. This would cause demand for plastic furniture to decrease.

5. Complementary goods. Complementary goods tend to be used together, so supply and demand for each good tends to move in unison. For example, a special disinfectant for use on plastic furniture would be a complementary good to plastic sofas. If the demand for plastic sofas increases, then the demand for the complementary disinfectant will increase as well.

6. Changes in income. Fluctuations in income often cause a consumer’s demand to change. An increase in income often leads consumers to buy more goods. Therefore, an increase in income shifts a demand curve to the right, while a decrease in income shifts a demand curve to the left.

7. Change in preference. Sometimes what is fashionable or chic determines the demand for a good. Suppose Henry Greenwald, the nation’s leading movie star, mentions that his entire 53-room mansion is filled with plastic furniture. This might cause many of Garza’s fans to want to buy plastic furniture, causing demand to rise.

Price can also be affected by outside forces such as government legislation. For political reasons, a government might set a price floor or ceiling on a good or service. A price floor sets a minimum price for which a product can be sold. Sometimes this minimum is never reached, making the price floor irrelevant. With no price floor, this market would reach equilibrium at price P* and quantity Q2. However, the price floor, Pf, causes producers to supply amount Q3 (point A) even though demand is just Q1 (point B). This creates a surplus of the good that is equal to the amount (Q3 – Q1).
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A price ceiling is similar to a price floor, although it creates a maximum price at which a good can be sold. With no price ceiling, the equilibrium price of this market would be at price P1 and quantity Q1. However, the ceiling limits prices to Pc. This leads to a demand of Q2 units with only Q3 units being supplied. This creates a shortage of good X equal to the amount (Q2 – Q3).

· Economic exchange

Before money was used, it was hard for watermelon farmers to buy chandeliers. To understand why this was so, consider a barter system, in which one set of goods is exchanged for another in some proportion. In a barter system, a watermelon farmer would offer to exchange his good (watermelons) for the good he wants (chandeliers). Chandeliers are very expensive to make, so the exchange rate might have been something like 100 watermelons for 1 chandelier. Storing 100 watermelons takes up a lot of space, and how many people like to eat 100 watermelons? Chances are good that the farmer would never get his chandelier, because the barter system would not work to facilitate an exchange between a chandelier maker and a watermelon farmer. The circumstances change if money is used. With money, goods have prices (instead of exchange rates), such as $100 dollars for a chandelier and $1 for a watermelon. The farmer can now set up a stand and sell his goods for $1 each, and after he sells 100 watermelons, he can use the money earned to purchase a chandelier. This shows money in its primary usage, which is as a medium of exchange. Money is used in all facets of the economy.

Besides being a medium of exchange, money serves two other functions. It acts as a standard of value, which means it allows you to understand how much something costs in terms of other items. For example, if someone brags about spending $500 on a watermelon, you know this person paid way too much. This is because most consumers have a good idea about how much certain things should cost or, in other words, what their standard of value really is.

· Money also acts as store of value. This means that money can be saved and spent later. In other words, money is a way to store wealth so that someone can buy goods and services whenever they need to. Just imagine if you needed to work at a grocery store to earn groceries, or work in a kitchen every time you ate at a restaurant. Exchange would be very difficult. When money acts as a store of value, however, you can use it to buy groceries without having to work for the grocery store or eat at a restaurant without having to know how to cook.

· In addition to having different uses, money also comes in different forms. The form you are most familiar with is currency, which consists of coins and paper money. There are also demand deposits at banks. When someone writes a check, he or she is using this form of money, which is typically kept in a checking deposit at a bank. Other forms of money include savings deposits as well as CDs (Certificate of Deposits). Money in these accounts tends to earn a better interest rate than money in a regular checking account, although they come with other restrictions.

· Types of businesses

Sole Proprietorship – Advantages and Disadvantages

Partnership – Advantages and Disadvantages

Corporations - Advantages and Disadvantages

· External economic factors

As you might imagine, natural disasters are not good for the economy. Catastrophic events like floods, tornadoes, earthquakes, and hurricanes can devastate an area, destroying factories, farms, and homes. Afterwards, people need money to rebuild their homes and offices. Of course, they can’t go to work to earn this money—since their workplace has often been destroyed—so they must get capital reinvestment from somewhere else. Large corporations are often well suited for this problem, since they have an easy ability to raise capital to rebuild. Sole proprietors, on the other hand, might have to wait for insurance coverage or some government help in the form of a federal disaster relief fund.
Other external factors besides natural events can impact an economic area. These external factors have a negative effect if they disrupt the normal flow of goods and services fundamental to business. Political unrest may create uncertainty about the future, causing consumers to drastically curtail spending or leave an area altogether. Environmental pollution can cause public health issues, leading to high local medical costs and a reduced workforce. A high incidence of crime often reduces property values, slowing an area’s economic growth.
These effects and others like them can be reflected on a graph known as the production possibilities curve. This curve represents all of the possible combinations of goods and services that an economy is able to produce with a fixed amount of resources. As shown in the following graph, most production possibilities curves are given for two products. In this case the two products are plastic flamingos and plastic furniture. When an economy is producing at point C, A represents the number of plastic furniture being produced and B represents the number of plastic flamingos being produced. Any negative disruption to the economy, like a hurricane or an increase in crime, reduces the amount of fixed resources in an economy. This, in turn, reduces the total amount of goods and services that an economy is able to produce. If the production possibilities curve shifted inward in the graph, all possible combinations of plastic flamingos and plastic furniture would be reduced. This shift can be shown at point D, where point E represents the new amount of plastic furniture production and F represents the new amount of plastic flamingo production. 

Production Possibilities Curve for Plastic Sofas and Plastic Flamingos








Production possibilities curves do not always shift in, however. Beneficial developments in technology or unusually favorable weather can expand the amount of goods and services that an economy is able to produce, given fixed resources.

· Types of market structures

The structure of a market describes many of the important features of that market. These features might include:

1) number of firms in the market

2) barriers of entry, or the ease in which companies can enter or exit the market

3) products created, and whether or not these products are identical, very similar, or different

4) level of competition

1. Monopoly

Number of firms: one

Barriers to entry: very, very high, if not insurmountable

Products: usually just one

Competition: none

Monopolies are very rare, but they do exist. Some monopolies are created when a firm gains a patent on a certain drug or machine, granting them the exclusive right to make that product. Other times, governments create (and then regulate) monopolies in the interest of efficiency. Your local water company is a good example of a government sanctioned monopoly. Running a water distribution plant requires a huge amount of capital startup, which makes it expensive for firms to get started (called a “barrier to entry). Having a single water company is more cost effective than having two duplicate water companies running side by side because two water companies would need to lay separate pipes to individual homes. One water company, on the other hand, can cut costs significantly by running one set of pipes throughout their entire service area. Monopolies are not always very favorable to the consumer. Since there is no competition, monopolies can decide on a price that maximizes their profits. This makes a monopolist a price maker, a company that has control over what it wants to charge people. This often leads to higher prices as well as some shortages, as demand for a good usually exceeds the amount the monopolist is willing to supply.

2. Perfect Competition

Number of firms: unlimited

Barriers to entry: none or very, very little

Products: a single product that is similar throughout the market

Competition: unlimited

Perfect competition is the opposite of monopoly. Here, any firm can get into the market at very little cost. Suppose there was a market for dandelions. Growing dandelions requires little start-up cost. All you need are dandelion seeds, soil, water, and some sunlight. There is little difference between one dandelion and another, so the market has a homogeneous product. In perfect competition, firms will keep entering the market as long as it is profitable. If a single dandelion sells for 5 cents and it costs 3 cents to grow one, then firms will keep entering this profitable market, increasing supply and driving down costs. When dandelions cost 3 cents to grow and sell for 3 cents, the market is in equilibrium and firms will stop entering the market. Firms in a perfectly competitive market are price takers. They have no control over their own prices, which are determined by the market. In other words, no one will buy an overpriced dandelion. Why should they? A 4-cent dandelion is the same as the 3-cent one, so there is no reason to spend that extra penny.

3. Monopolistic Competition

Number of firms: a large number

Barriers to entry: low

Products: Products are similar but not exactly alike from one firm to another.

Competition: Firms must remain aware of their competitor’s actions, but they do have some ability to control their own prices. Monopolistic competition takes its name and its structure from elements of monopoly and perfect competition. The key idea to understanding monopolistic competition is that firms sell products that are similar, but not exactly alike. Consider hand soap. Essentially, all hand soaps are the same. Yet firms can create a brand identity that separates their hand soap from their competitor’s. This brand identity can be formed through packaging, product support, and especially advertising. If effective, consumers will positively identify a certain brand and purchase it even if another hand soap costs a little less. The brand loyalty of consumers gives firms some control over their own prices. This control is not great, though. A hand soap that costs fifty dollars more than any other brand will probably not be purchased because most soaps are easily substituted for one another.
4. Oligopoly

Number of firms: few, often somewhere between 2-12 firms controlling a majority of the industry

Barriers to entry: high

Products: varies

Competition: All firms are very aware of each other’s prices. Whenever a few firms dominate an industry, you have an oligopoly. While there aren’t many firms in any oligopoly, each firm is keenly aware of each other’s prices and behavior. If Firm A (ex. Chevrolet) lowers prices, it often does so expressly to take business from Firm B (ex. Ford). Firm B (Ford) must either respond by lowering prices, or take some other action if it does not want to lose market share to Firm A (Chevrolet).

Some oligopolies are fiercely competitive, such as the soft drink industry or the airline industry. In other oligopolies, firms work together to set price and quantity. Since these firms effectively control a market, this cooperation creates a kind of monopoly called a cartel. Cartels can create artificially high prices and reduced quantity in order to maximize profits, but they are often illegal and very difficult to maintain. (ex. OPEC)
· Influence of organized labor

The goal of any union is to organize all the workers in a factory, city, or industry, and then get these workers to act in concert with one another. If only one worker out of a hundred-person factory objects to working unpaid overtime, management could usually replace the dissenting worker. If this worker is a member of a union, then management could face union retaliation for such an action. If 75 of the 100 workers are union members, the union could stage a walkout in protest of the unfair firing. This would effectively stop production, something too expensive for management to ignore. Unions have the ability to bargain collectively about contracts, negotiating with management on behalf of all its members. If management refuses to reach an agreement, the union members can strike, refusing to work until their demands are met. Overall, unions help their members set wages. Union jobs often have a higher wage and better benefits than similar non-union jobs. Yet these improvements are not without their costs. Union jobs increase labor costs, leading to higher prices to offset the higher costs of production. Companies dominated by union members are often burdened with these high costs to such an extent that they lose the ability to compete in an industry. This is especially true if their competitors have lower labor costs due to no union presence. So, while unions improve wages and workers’ benefits, they also raise the cost of labor and reduce a company’s ability to compete.

· Current labor issues

Over the past fifty years, union membership has declined dramatically in the United States. Roughly one person out of three was a union member in 1955, while that number is now just one in seven. Almost half of all union workers currently are government employees. There are many reasons for this change, including:

1. A shift from manufacturing to service jobs. Manufacturing jobs have traditionally been more union-friendly than service jobs. As the service sector of the United States economy grows, the union-heavy manufacturing side decreases.

2. Increased global competition. With world markets merging, it is difficult for a company carrying high labor costs to remain competitive. Foreign companies who do not pay their workers as much continually undersell companies with these high production costs.

3. A more mobile workforce. Many people do not go to work for a company and expect to be working there for the rest of their career. This might have once been the case, but it is not as prevalent anymore. Workers who move from one job to another and one sector to another are not as interested in joining a union.

4. Better perks. Today, companies have begun to offer employees many benefits just to attract them to work. These benefits include flextime, vested stock options, and free mobile phones and computers. These workers do not need a union to bargain for them because companies are competing for their skills. While unions are in decline, this does not mean they are gone for good. Overall, unions still provide their members with a higher standard of living than non-union members. They also provide the best means to check management policies that are harmful or detrimental to the workers of a company.

· Role of regulatory agencies

While some government agencies are set up to regulate monopolies, these agencies exist to regulate numerous aspects of the United States’ economy. Some agencies work to ensure the safety of goods and services. For example, government inspectors check various meats and other foods for harmful bacteria. Other agencies exist to maintain competition in certain markets, such as the local radio market. Fearing the effects of having one company control all radio stations, the Federal Communication Commission (FCC) prevents any company from owning more than eight stations in the single market. (This number was once lower, but a 1996 law increased the number to eight.) Eight stations is a lot for one company to have, but it does allow for other companies to offer radio stations with different views and programming. Government regulation takes many forms. Overall, the goal of the government is to provide for the health and safety of its citizens and its businesses. Some regulation protects citizens from corporate abuse. Other government regulations help businesses recover from external problems by offering money to help offset an unforeseen disaster.

Content Domain IV: Macroeconomics: The National Economy
· Banking functions

For many people, banks are places to store money. These people keep money in checking and savings deposits, and they might even store valuable jewels, stocks, or important documents in safety deposit boxes inside their bank’s vault. If a person keeps enough money in his or her accounts, a bank might even offer these services free of charge. This seems awfully generous of the bank, doesn’t it? Before you start praising its generosity, keep in mind that a bank is really in business to make loans to people. Banks offer a variety of loans: mortgages, credit card debt loans, car loans, and personal loans. Banks also offer loans to businesses that want additional capital for investment. All of these loans have different interest rates which means that when the borrower pays back the loan, they also pay an extra fee (a small percentage of the total loan) for being able to use the bank’s money.

· As you can see, the two main functions of a bank—holding people’s money and making loans—are related. While banks are storing money deposited by their customers they can offer this money to borrowers in the form of loans. This is why banks often wave fees for people with large deposits. They want that cash! To be more precise, large deposits increase the amount that banks are able to loan, and in the banking world, more loans equal more profits.

· The process described above sounds simple, but the real banking world is not quite so easy. First, banks only make money if the loans are repaid. If loans aren’t repaid, then banks are in trouble, especially when depositors show up to retrieve the money in their accounts. This is why banks are careful to insure that loans will be repaid. A borrower often has to have collateral to receive a loan. Collateral is often property (like a house or farm) that the bank will receive if the monetary loan is not repaid.

· Second, banks increase deposits by offering interest rates on some accounts, like savings accounts. The interest rate creates an incentive for people to place money in the bank, but it also cuts into bank profits. Of course, the interest rate offered on accounts is less than the rate at which banks loan out the money. If it weren’t, the bank would never be able to make a profit.

· Finally, the more money a bank lends out, the greater its profits will be. However, depositors have a right to enter a bank and demand the money in their accounts. For this reason, the federal government requires banks to keep a percentage of total deposits (called the reserve rate) on hand at all times. This amount wouldn’t be enough if everybody showed up and demanded his or her money, but this rarely happens. The current reserve rate is 10 percent of the value of all checking and savings accounts.

· Macroeconomics/Key economic indicators

The general economic health of a nation can also be judged by looking at several basic economic indicators, which include the Gross Domestic Product (GDP), the Consumer Price Index (CPI), and the unemployment rate. A quick glance at these three factors can often tell you how an economy is doing. As stated earlier, the GDP is the market value of all goods and services produced by a country over a specific period of time, usually a year. There are different methods of measuring GDP, but the most common one is known as the expenditures approach. This approach adds up all the money spent by a country’s consumers, firms, and the government, and then factors in net exports. The formula for GDP can then be written as:

Gross Domestic Product = Consumer Expenditures + Business Investment +Government Expenditures + Net Exports

GDP = C + I + G + Xn

· The Net Exports part (Xn) is needed to take into account the amount of money foreigners spend on our goods and services as well as the amount we spend on foreign goods and services. Foreigners buying our goods should be part of GDP, while money we spend on foreign goods is not part of the Gross Domestic Product. 

Net Exports = (American goods and services bought by foreigners) – (foreign goods and services bought by Americans) Net Exports = exports - imports

· Tracking GDP over a period of years can tell you if a nation’s economy is expanding or contracting. If GDP rises by 4% from Year 1 to Year 2, then the economy appears to be doing well. However, inflation can distort GDP growth, since a rise in the average price level would increase GDP. If inflation between Year 1 and Year 2 was very high, then GDP might not have grown at all. The higher prices caused by inflation may have caused the 4% shift, but the economy was actually unchanged.

· For this reason, GDP is often discussed as real GDP. A base year is used, and a price index (called the GDP deflator) is used to measure all future GDP in terms of the base year prices. Ideally, using base year prices will eliminate any distortions caused by price changes and allow real GDP to accurately reflect changes in the nation’s economy.

· The GDP deflator is a price index that is designed to track inflation (and deflation). The Consumer Price Index does the same thing. The CPI takes a hypothetical basket of goods and services purchased by a typical household. It then tracks changes in the amount of money required to purchase this same basket of goods and services year after year.

Example Question:

Between Years 1 and 5, a nation’s nominal GDP remained the same.

The CPI for year 5 was 93, falling from 100 in Year 1. Based on this, a reader could most likely conclude that between years 1 and 5
A real GDP increased and deflation occurred

B real GDP increased and inflation occurred

C real GDP decreased and deflation occurred

D real GDP decreased and inflation occurred

A drop in the CPI to 93 shows that the same bundle of goods that cost 100 units in Year 1 now only costs 93 units. This deflation means consumers had added spending power, since a dollar earned in Year 5 had more purchasing power than a Year 1 dollar. Therefore, Real GDP actually increased during the period, although the fall in average prices masked this increase in nominal GDP. The answer is A.

· Aggregate supply and demand

Aggregate supply and demand are macroeconomic ideas that parallel supply and demand in microeconomics. Demand for all goods and services within a nation combines to form aggregate demand, while the supply of all goods and services within a country is its aggregate supply.
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The aggregate demand curve looks like a demand curve for a single business, but note that the horizontal and vertical axes are labeled differently. The vertical axis is a price level, like the CPI or GDP adjustors, while the horizontal axis represents real GDP. The downward-sloping curve of aggregate demand is similar to an individual demand curve except that it is caused by the relative wealth of a country rather than an individual. Assuming the money supply is constant, a lower price level will give people greater purchasing power. (You saw this demonstrated in the last question.) This is shown by a movement to the right along the aggregate demand curve and is accompanied by an increase in real GDP. Net exports also play a part in the aggregate demand slope. As domestic price levels increase, foreign-made goods become more attractive, since domestic goods are becoming relatively more expensive. A decrease in exports and an increase in imports will affect Xn in the GDP equation, causing GDP to fall. 

Aggregate supply curves are generally upward sloping but, like most supply curves, they can be vertical depending on what assumption you use to construct the curve.


       Price

LRAS


     Level

SRAS


Real GDP
The difference between AS1 and AS2 involves the amount of time needed to adjust prices based on changing economic conditions. Assume for now that a nation’s output or GDP varies slightly over short periods of time, but over many years remains generally constant. AS2, known as the long-run aggregate supply curve, shows that no matter what the price level is, real GDP remains constant. This is simply to represent the assumption that an economy’s output remains about the same over long spans of time. AS1, on the other hand, is called a short-run aggregate supply curve because it represents the relationship between prices and GDP over short spans of time. It slopes upward because the economy is temporarily able to increase or decrease output in response to price changes.

Shifts in aggregate demand and supply can signal changes in the economy. If the aggregate demand curve shifts to the left, then real GDP is falling. This could mean a recession. If aggregate supply shifts to the right, then the economy is producing more goods and services at the same price level. This could signal improvement in production ability brought about by technological and capital improvement.

· Types of unemployment

Just because you’re not working, it doesn’t mean you are unemployed. If a student holds down a part-time job, however, they might be considered employed, since the unemployment rate counts part-time and fulltime employment as being employed. It is perhaps simplest to define unemployment in the following way: If you’re looking for a job, and can’t find one, then you’re unemployed.
People who have given up looking for employment are called discouraged workers. Even though these workers could eventually find work, the fact that they are not looking for it means that they are not included as part of the unemployment rate. Generally speaking, nations want to keep their unemployment rates low. Unemployed people are often unhappy, not to mention out of money and unable to contribute to the economic well being of the nation. High rates of unemployment have a negative effect on a society. Nations can offer unemployment benefits to help people while they are unemployed, but nothing beats a steady job and economic wealth to help a society and its members.

There are four types of unemployment: frictional, structural, seasonal, cyclical
· Business cycle/Economic cycle

Cyclical unemployment occurs during a recession, the low part of the business cycle. Inflation (a rise in the price level) can affect the economy throughout these expansions and contractions.

Suppose that the economy is in a recession and unemployment is high. However, things start to pick up, and aggregate demand moves from AD1 to AD2. Along this section of the aggregate supply curve, real GDP grows and prices don’t. This reflects the fact that growth is occurring mainly by eliminating cyclical unemployment. During the recession, the nation was not working at full capacity, so it had room to grow without spurring prices. The situation changes from AD2 to AD3. At AD2, the economy was already close to its highest aggregate supply ability. However, the continued increase in demand “pulls” the price level to P3, even though it does little to increase real GDP. This is known as demand-pull inflation. Prices have increased, but real GDP has not changed.
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Inflation can also occur in other ways. Suppose an economy is at AD in graph 2. Now suppose that a series of tornadoes and hurricanes devastate numerous sectors of this economy. This would cause aggregate supply to fall, as ruined businesses are busy rebuilding. In this event, the nation’s aggregate supply falls from AS1 to AS2. As you can see, prices rise and real GDP falls. This event is called cost-push inflation.

A little inflation is not very harmful to an economy. Consumers with large loans actually benefit during periods of inflation, since this reduces the relative cost of the loan (Banks, on the other hand, would suffer for the same reason). So long as a person’s wage increases proportionally to the inflation, then the consumer will be no better or worse off. However, wages are often fixed by a contract, so a person with a fixed wage might not be able to consume as much as inflation continues, since his or her relative spending power is reduced. Some contracts take this into consideration by having a cost-of-living adjustment, which shifts a person’s wage up to reflect increases in the price level. If inflation is expected, consumers can plan for a slight increase in price and make decisions accordingly. Trouble occurs when inflation rises too sharply. This reduces the value of saved money, causing people to spend all the cash they can before it devalues. In the rush to spend their money, people often become less productive, reducing a nation’s aggregate supply. This, of course, can lead to more inflation. Inflation that spirals out-of control can seriously damage an economy, which is why governments often take steps to prevent this occurrence. In the United States, the government works to control inflation through the Federal Reserve System.

· Role of the Federal Reserve in Monetary Policy

Open Market Operations, Reserve Requirement, and the Discount Rate all influence the money supply. Increasing the money supply is known as expansionary policy and decreasing the money supply is contractionary policy.

· Fiscal policy and the federal government

The federal government can affect the national economy through taxes, expenditures, and borrowing. To see how each of these factors can change GDP, recall the earlier formula: GDP = C + I + G + Xn

The first element, taxes, can affect both consumers (C) and business investment (I). Consumers make up more of GDP than business investment, however, so consumer taxes have a greater influence on GDP than taxes relating to business investment. To boost GDP, the government can reduce taxes. This would encourage most consumers to purchase more because the government is taking a smaller portion of their income. When consumers spend more, producers increase their output and the GDP increases. Another way to increase GDP would be to increase government spending, G. However, consider what would happen if tax cuts and government spending were to occur at the same time. The new tax deduction would reduce government revenue while the government was simultaneously increasing its spending. This could lead to a budget deficit, where the government spends more than it collects. Over time, the government would have to borrow money in order to make up this deficit. This might not seem like a big deal, but continued budget deficits will lead to increased interest payments on that national debt. To get more money, the government might have to raise taxes that don’t provide any service other than paying the interest on the national debt.

Content Domain V: The International Economy
· Types of economic systems

Three Major Economic Systems

1. Market. This is also called a capitalistic or free-market system. In a market system, private individuals and firms control all resources, and the price and quantity of all goods are determined by the interaction of demand and supply in unrestricted, open markets. Ownership of property and goods is determined in the private sector and the government does nothing to interfere with any market. Instead, this system relies on the belief that a market system naturally leads to efficient results (called the “invisible hand”), which theoretically correct any inequalities in resource allocation.

The United States is very market-oriented, but it is not a purely capitalistic system. One problem with market economies is that the accumulation of wealth can be uneven. Under this system some people might become very rich while others might remain poor. In the United States the government intervenes in the economy so that there is a mechanism to take care of the poor. Poverty, however, is not the only problem that may emerge if the government is completely uninvolved in markets. Other problems with unregulated activities include the elimination of competition (as monopolies would be free to exist and expand), inefficient public services, and outright theft.

2. Command. A command economy is the opposite of a market economy. In this case the government commands all markets, determining what to produce, how to produce, and for whom to produce. Centralized planning committees take into account all the resources a nation has to offer (people, land, capital), and then set up an economic system to produce this predetermined mixture of goods and services. Since the government is in charge of everything, citizens should all receive equal amounts of basic goods and services. In theory, this means that there should be no problems with high unemployment or poverty. In a command economy, the government is supposed to provide for its citizens.

A command economy may work in a simple society with only a small number of people. Yet today’s economies are often too complex for a committee to decipher. For this reason, command economies often produce a set of goods and services that is different from what its population really wants, leading to shortages of needed goods and surpluses of others. Also, since there is no private ownership, people have little incentive to work hard. Because the government manages all basic economic decisions in a command economy, personal liberties and freedom are not as great as they are in a market economy.  The former USSR was an example of a command-dominated economy. The fact that this country collapsed economically has led many economists to question the long-term viability of command economies.

3. Traditional. A traditional economy maintains a status quo, deciding that if something worked for one generation, it can work for the next as well. The static nature of a traditional economy can allow it to continue for long periods, but its inability to change can also stifle progress and economic growth. The global economy has rapidly changed over the past hundred years and this has left many traditional economies far behind. While these three systems describe theoretical concepts of how an economy might function, in the real world most economies blend two (or even all three) of these systems. For instance, while China is considered a command economy, they have rapidly begun to incorporate many aspects of a market structure into their economy. Likewise, while the United States is considered to have one of the most capitalistic economies in the world, the government still intervenes in some markets. Therefore, there is a fourth economic system known as a Mixed economy. This is simply a way of naming an economy that incorporates aspects from different economic systems.

· International trade

International trade allows a country to concentrate on what it does best and trade for what it can’t or doesn’t produce. In effect, trade allows a country to specialize in certain goods, which (as you know from earlier sections) leads to more efficient production. In fact, when each country specializes in what it does best, each country has more to trade. In other words, as both countries take advantage of their strengths, both will increase their overall economic well-being. The terms economists use to describe a country’s economic strengths in relation to another country are absolute advantage and comparative advantage. When a country has an absolute advantage over another country it simply means that that country can produce more of a good than another country. For example, Brazil has an absolute advantage over the United States in the production of sugar, while the United States has an absolute advantage over Brazil in the production of cars. While large countries will probably have an absolute advantage in production over smaller countries, when any two countries are producing two goods, like cars and sugar, one country will always have a comparative advantage over the other in the production of one of the two goods. Put another way, given two countries that can both produce sugar and cars, one country should specialize in producing cars and one country should specialize in producing sugar so that they can trade. 

At first this might seem silly. After all, what if a country is better at producing both sugar and cars? Imagine the United States isn’t trading sugar and cars with a country as large as Brazil. Instead, suppose the United States is trading with a very small country such as Costa Rica. Unlike Brazil, Costa Rica cannot produce as much sugar as the United States, nor can it produce as many cars as the United States. In fact, the United States has an absolute advantage over Costa Rica in the production of both cars and sugar. Does this mean that they cannot benefit from trade? The answer is no. They can still benefit from trading with one another because each country has a comparative advantage over the other. In essence, this means that one country is more efficient at producing a good than the other. While Costa Rica might not be able to produce as much sugar as the United States, it does not cost very much to produce the small amount it can grow. After all, Costa Rica doesn’t need greenhouses and expensive equipment to grow sugar cane. So, while the United States could produce more sugar than Costa Rica, it should put more effort into producing cars because it costs so much to produce sugar in the United States. If Costa Rica and the United States trade, the United States should produce cars (because it has a comparative advantage in the production of cars) and Costa Rica should produce sugar (because it has a comparative advantage in the production of sugar). While the United States could produce more of both, it is more efficient to specialize in the production of cars and trade those extra cars for sugar.
The example above illustrates the benefits of international trade. In economic terms, there are clear advantages to both countries. Sometimes, however, policy makers make decisions that are not always based on economic principles. For instance, sometimes a nation’s leader might feel that a particular industry is important for national security. Because a war might disrupt trade, a country that is dependent on others for certain goods might be left unprepared. Therefore, a country might try to encourage certain industries to remain functional, even though it might be more efficient to trade for that particular good rather than produce it. This is known as protectionism because it protects a country’s industries from foreign competition. If a nation engages in protectionist policies, it usually does so by finding ways to reduce the amount of a foreign good that enter the country. 
A tariff is a tax on an imported good. This increases the price of that good, thereby decreasing the quantity demanded. A tariff might help a domestic producer stay in business, even though an imported good would (without the tax) be cheaper for domestic consumers. A Quota functions in a similar way but instead of taxing the import, a quota limits the amount of a good that is allowed into the country. That way, while a foreign good may be cheaper, domestic consumers can only buy so much of it before they have to buy comparable domestic goods instead. In general, both tariffs and quotas are put in place in order to make it easier for domestic producers to compete against foreign firms who want to sell their products in the United States. International trade is, nevertheless, beneficial to an economy. While protectionism might allow some domestic firms to keep producing, allowing free trade is almost always the most efficient way to run an economy.
Since barriers to trade increase prices, many nations often try to reduce these barriers with their economic partners. In theory, this will lead to lower prices for buyers (citizens) within the trading nations, as well as with firms that are more competitive on the international market (because of increased competition). The North American Free Trade Agreement, NAFTA, is one such trading block; its goal was to eliminate barriers to trade —most notably tariffs—between Canada, Mexico, and the United States. Another such trading block, the European Union (EU), was fashioned with the similar goal of reducing barriers to trade between its member nations, which should then reduce prices throughout the trading block while making firms more competitive.
· International trade issues

Tariffs, quotas, and other trade agreements are international trade issues that entire countries must address. For individuals, the exchange rate is one of the most important international trade issues. The exchange rate measures the price of one nation’s currency in terms of another nation’s currency. Consider the case of two grocery stores: Americo-store and Groceria Mexicana. Americo-store is in Brownsville, Texas, while Groceria Mexicana is right across the border in Matamoros, Mexico. Suppose that the exchange rate between the U.S. dollar and the Mexican peso is 1:10, meaning one U.S. dollar translates to 10 Mexican pesos. Exchange rates move up and down to reflect the worth of one country’s currency in comparison to another. If there is a great demand for U.S. products, people need more U.S. dollars to purchase these goods. This drives the demand for U.S. dollars up, causing the dollar to appreciate, or strengthen. At the same time, the peso has depreciated, or weakened, relative to the dollar. This means that the new exchange rate is, say, 1:15, meaning an American dollar now translates to 15 Mexican pesos. Here’s the big question: Which grocery store benefits from the new exchange rate? If you answered Groceria Mexicana, you would be correct. The appreciated dollar makes U.S. goods more expensive relative to their Mexican counterparts. The dollar can purchase more, but it also raises the price of U.S. goods. Some U.S. customers might take advantage of the strong dollar and cross the border to shop at Groceria Mexicana, since their dollars are worth 15 pesos instead of 10. Similarly, anyone converting pesos to dollars needs to pay 15 pesos for one dollar, rather than 10. In this case, when a person is converting dollars to pesos, his or her purchasing power has increased due to the new exchange rate. When a person is converting pesos to dollars, however, the stronger dollar lowers their purchasing power. Overall, business at Groceria Mexicana would increase, while Americo-store’s business will decline as some customers cross the border to take advantage of their strengthened currency.
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